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To-Do : Chapter S computations

· Find ONB for im(A)-(iI · Find QR decomp - for
Ar

~

Edmatrixthat upse projinct)

~ Solve the least-squares problem
~

A = [i]



~

- = (ii)
o ONB for im (A)

orthunmal basis

↳ Gram-Schmidt
ONB for

basis for me
that subspacesubspace

[ii] e+ ( :]+ im(a) = spo
.[i]

+ [] + [00 -/
said for inc



·m basis :bas are normalized
,
(1) =

14 All the basis rectors areectuallyorthogonal , . To =

Vi E

[i]
,

[i] S ,
...,23 ve 3 , ...

inG -,i

basis Orthogonal
orthonormal

·2 = E - project



- (i) + [i] = () . (i) = 5- - = =

is=el
= 5(] well=+ 1

-.t
=st

.

E
= [i =i)

ONB for im(A)



min theia on t

A = QM im(A)

nX m MXm R : Petrogr (F:
R =Q

Vij = the entry of R in the ith por &jth col-

·]((forjsi)

R = [Iwillno



③ Find the matrix that rep - projim(A)
,
P (projection

A = Y ·
im(A) is a subspace of[ I ~ eR3

, projima

①For atexAiftwhi
oa

PE = projincas = proje+ project
= (n·)u + (2)

Etsymmetric
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↳

⑳ 2

①
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=I



Watc : Az - [i] n = (i)
MX2

Xno
solution

] -
x - xz

= I

Find the least-square sol to AF = [i]
A A = = n

+ [i]



= (ii)(i) = :)

no = [i -
i
-i]( (5]

( (5]2(12% + 1 :/



1: 10 ; (i)

]
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*
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:AEI

II[i] - [i]==F



T : R -> H B = 55, ..., 5.3 basis of Ru

T(E) = AE

[+] = [] (+ (2)]p ... [(:17 is]
&

① Compute A51
,
this is a vector I

② With T in B-basis - [5, ...]6-
sol , to this augmented

system
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